EEREREMEHRE=AI VAT (EREF16E)FER
(HSM45E8H48~9H158H®E)
RF A K ER X RKAED (REHRYL)
FEERKEXEAI (RFAHY)
AESS R EFRPIEME(1 Sv/h)
5 = WEE-BERES
No. | rhETH R4 SRELT BE | 50om P Fn (k- 4RO T 918) e
10; 5 5515[H S %15 il %15
PERE | AErR | HEsE | PERE | FreR | Arrs
50cm 0.07 0.06 0.06 0.06 0.06 0.05
1312 |#rthET REE B BmRER 8H4H
1m 0.07 0.06 0.07 0.07 0.06 0.05
50cm 0.06 0.06 0.06 0.07 0.05 0.06
1313 |t AT RER R ER 8H31H
1m 0.06 0.06 0.06 0.06 0.05 0.05
50cm 0.05 0.05 0.05 .
1314 |#rthET RER REAREM 8H4H E15EEHAETFRN
1m 0.05 0.05 0.04
50cm 0.07 0.07 0.07 0.07 0.05 0.05
1315 |#rthET INERR Frith BT 31 B A S8/ VAR 8H4H
1m 0.08 0.07 0.07 0.06 0.05 0.05
50cm 0.06 0.06 0.08 0.08 0.05 0.06
1316 |FrihET INEEAR Frih BT L FTHh /AR 8A4H
1m 0.06 0.05 0.09 0.08 0.06 0.06
B 50cm 0.06 0.06 0.07 0.06 0.05 0.06
1317 |#rthET INERR Fh BT S AR H /N ERR 8H4H
1m 0.06 0.06 0.07 0.06 0.05 0.05
50cm 0.07 0.07 0.08 0.08 0.06 0.06
1318 |#rtthET el 5 Hrih BT 37 18] 3 AR 8A31H
1m 0.07 0.06 0.08 0.07 0.06 0.06

X TE15EAEFERILF.

$H3E8A16AMNC9A16HICEELIZIBER

RIRET

BMEHRE=2U T HE (EREE 150D IITE T HRAERR. TOMICONTIE. HERICERT 5.

1/1




